usl*CurMon

usl*CurMon:Entry$

0

x10°

20 40 60 80 100 120 140 160 180 200 220

run6355 000 maindet usl.png

Entry$

7000

6000

5000

4000

3000

2000

1000

usl*CurMon {ErrorFlag==0}

evtlree
Entries 163553
Mean 4.757

otd Dev  0.02352

|
65 4.7

4.75 4.8

4 85
usl*CurMon

asym_usl/ppm:pattern_number {ErrorFlag==0}

[T 1
ks

8000
if}{--}{}{}{ s }{}{ et s 8 s s §
EDEID: | TT XTHRTX XXTT THTX X TEXX X
4000+
2000fH | | | |
2000 [ | I I
~4000 [+
| L LLL|LLLLL]s IR L
00001 L5 i o ST OGS w8
| hd s S
| a4 H .
-8000 £
_I L 1 1 | | I I | | I I | I I | | | I I | ]
0 10000 20000 30000 40000 50000

pattern_number

asym_ usl

B Entries 40840

i Mean 2.589
450

- Std Dev 1527
400 Underflow 2982

B Overflow 2820
300
250
200}

_I 1 1 1 | I 1 1 1 | I 1 1 1 | I I | l 1 1 1 | I 1 1 1
~3000 -2000 —1000 0 1000 2000 3000

ppm




dsl*CurMon:Entry$

asi Lurmvion

T T

I
Lk m
FII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

= b L Bl e o

e
Ak

+1>
Ak

<]
Ak

<]
L

x10°

0 20 40 60 80 100 120 140 160 180 200 220

run6355 000 maindet dsl.png

Entry$

6000

5000

4000

3000

2000

1000

dsl*CurMon {ErrorFlag==0}

evtlree
Entries 163553
Mean -3.815

Std Dev  0.01118

-3.86

-3.84

-3.82

-3.8

| |
-3.78 -3.76
dsl*CurMon

asym_dsl/ppm:pattern_number {ErrorFlag==0}

1500—
- %
i . *
X X X XXX XX XX gﬁxﬁ XX X
500 -

-500

-1000

—-1500

)
T
[ 1
11
o1
a7 1
I
1§ 1
I (I
5 1
I F
o7 1
I
I
I
1
I
17 1
I
75— 1
I I
I |
T 1
1
I
I
71
I I
1
I I
[ 1
1
T 1
[ 1

IO Bog g g x x 30 o

- s A L A L - s

- U - s L s -

- X %X %o

5 }:

B L1 1 1 | I 1 1 1 | I 1 1 1 | L 1 1 1 | I 1 1 1 | I
0 10000 20000 30000 40000 50000

pattern_number

asym_dsl
- Entries 40840
3000
| Mean 0.2426
2500 Std Dev  325.1
E Underflow 0
2000
i Overflow 0
1500
1000
500 —
D_ I I | | I | | I A T | | I O | | I | | I O |
—3000 2000 —1000 0 1000 2000 3000
ppm




usr*CurMon:Entry$

usr*CurMon

B

DIII|III|III|III|III|III|II

| EF T
" ||||||||||||

x10°

0 20 40 60 80 100 120 140 160 180 200 220

run6355 000 maindet usr.png

Entry$

7000

6000

5000

4000

3000

2000

1000

usr*CurMon {ErrorFlag==0}

evilree

Entries 163553

Mean 4.798

Std Dev  0.02476

4.75 4.8 4.85 4.9
usr*CurMon

asym_usr/ppm:pattern_number {ErrorFlag==0}

10000 —

_

X

| x g :x
5000 - 1
5000 | | | | | |

Lolx X L™ 50 LIS %

- & X R %7 XX %

37 x

-

i x

I}{I [ 1 | I 1 1 1 | I 1 1 1 | L 1 1 1 | I 1 1 1 | I
10000, 10000 20000 30000 40000 50000

pattern_number

asym_usr

B Entries 40840
450

B Mean 7.514
40(]:— m Std Dev 1563

i [IJ ” Underflow 3608
3901~ Overflow 3774

i UH
3001 H
zsni—-ﬂjl
200k

— 11 1 1 | | I I | | L1 1 1 | | I O | | L1 1 1 | | I I |
~3000 -2000 -1000 0 1000 2000 3000

ppm




dsr*CurMon:Entry$ dsr*CurMon {ErrorFlag==0} asym_dsr/ppm:pattern_number {ErrorFlag==0} asym_dsr

c n Entries 40840
2 B 6000 — thTree i [
= - - 1500 2500

3 - B _ B - Mean 0.4193
_ B - Entries 163553 SV -
w | — |

O - 5000 1000 :é i ﬁ; %}{}{}{}{ N Std Dev 380
— ! Mean ~3.763 : 2000~

- i - i Underflow 0

= 4000~ Std Dev  0.0131 00 i Overflow 0
- i [ n 1500 —
-2 3000 OF H H H H H HHH H HH HH H H :
C - f | 1000
—2.5 - 500 - I
5: 2000 5nn: -
-3 = B —1000 [+ + Y - o — | B
- - R I s Bl et D S s 500
: 10001~ oo e S o ok 3 -
- i - L R p % % -
—3.50 L3 - ~1500 — x I

s el .. -.m.ul... |III|'.?"'°:.‘||‘...‘|3 D—l 1 I | L 1 | L1 1 | L1 I _II II| IIII|I III|IIII|I 1 1 |I D IIII|III IIII|IIII III|IIII
20 40 60 80 100 120 140 160 180 200 220 -382 -38 -378 -376 -374 -372 -37 0 10000 20000 30000 40000 50000 -3000 -2000 -1000 O 1000 2000 3000
Entry$ dsr*CurMon pattern_number ppm

run6355 000 maindet dsr.png



0.0326

0.0324

0.0318

0.0316

0.0314

yield usl:pattern_number {ErrorFlag==0}

10000 20000 30000 40000 50000
pattern_number

run6355 000 pairTree usl.png

4000
3500
3000
2500
2000
1500
1000

500

§

yield_usl {ErrorFlag==0}

htemp

Entries 81704

Mean 0.03207

Std Dev  0.0001095

0314 0.0316 0.0318 0.032 0.0322 0.0324 0.0326

yield usl

10000

15000

10000

5000

-5000

asym_usl/ppm:pattern_number {ErrorFlag==0}

XK KK HH KKK
% %5

ot
ot
- et

_‘_‘-_:{-_

L
s
.
.

L

-]
|IH}L’IF§M1 I ,|§E|, I ST E s T 1
I |
I
I
I
I
1 1
I
I
10 1
7 1 |
7 1
1 1
I
I
I
I ¥
I 4
7 1
I | I
1
1
e b———T T 1}

R
.
=
oW

L
.

)

0

10000

20000

30000 40000 50000

pattern_number

asym_usl/ppm {ErrorFlag==0}

: PairTree
3500
B Entries 81704
3000
B Mean -12.58
2500
n Std Dev 2555
2000
1500
1000
500
D:|IIII| I|IIII|IIII|IIL|_II
“15000 —-10000 -5000 5000 10000

asym_usl/ppm




yield_dsl:pattern_number {ErrorFlag==0} yield_dsl {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl/ppm {ErrorFlag==0}

02555 - h’[emp ~000l _ 2200 PairTree
: 3000 — i _ Lo -
0.0256 _ * - Entries 81704 _ TTITTTT T T o T e | T TTIT!I 77 EUDDE_ Entries 81704
: 2500 - 2000 1800
12565 E Mean —0.02572 1600 Mean 0.2879
- 10001 | -
2 2000 — Std Dev 4.351e—05 i 1400 Std Dev 1081
0.0257 31 u - B
: i nésnszszaﬂazﬂssszzzﬂsﬁssc: A "HREREBRFRE 1200~
0257544 15001~ : 1000~
- 1000 [ TUETU PR TP TS T T TTHTY U T T T 800
0.0258 1000 — I .
B - I 600 —
B i —2000 1+ -
02585 — 500 NI R R R N R I R e 400
1,02 QI_ - . i _ap00- L - 200
'5—IIII|IIII|IIII|IIII|II-II|I D_Illlllll IIII|IIII|IIII|IIII|IIII II||| _IIII|IIII|IIII|IIII|IIII|I D_II I|IIII|IIII|IIII|IIII|I I|I
10000 20000 30000 40000 50000 —-0.0259.02589.0258.02579.0259.02569.0258.02555 0 10000 20000 30000 40000 50000 -3000 -2000 -1000 O 1000 2000 3000
pattern_number yield_dsl pattern_number asym_dsl/ppm

run6355 000 pairTree dsl.png



0.033

0.03281 7,

0.0326 |2 idiiig

0.0318

yield usr:pattern_number {ErrorFlag==0}

10000 20000 30000 40000 50000
pattern_number

run6355 000 pairTree usr.png

4000

3500

3000

2500

2000

1500

1000

500

yield_usr {ErrorFlag==0}

I|II_I

htemp

Entries 81704

0.03235

Mean

Std Dev  0.0001144

0.0318 0.032 0.0322 0.0324 0.0326 0.0328 0.033

yield usr

15000

10000

5000

asym_usr/ppm:pattern_number {ErrorFlag==0}

E
B -
— e
B s A

HUR AR . HEER -
s e HOHK O OKEN O OHKHHETT O ALK
| T T AH T MEM O XKMETT A }{}{}{}{H}{ e

5000 [-
'gf L Ll L1 x%ﬁﬁg-- 11 xmgg
CLL w0 mHH mExEplliix HE X #
ﬁngx MM %ﬁiixxx N MM o
JDDDD%%EK i ¥
i * ps
_I 1 1 | L1 1 1 | L1 1 1 | | I I I | | L1 1 1 | ]
0 10000 20000 30000 40000 50000

pattern_number

3500

3000

2500

2000

1500

1000

500

asym_usr/ppm {ErrorFlag==0}

PairTree
Entries 81704
Mean 22.57
Std Dev 2718

-10000

-5000 0 5000

10000 15000
asym_usr/ppm




0.0251

0.0252

0.0253 -4k}

0.02551

yield dsr:pattern_number {ErrorFlag==0}

10000 20000 30000 40000 50000
pattern_number

run6355 000 pairTree dsr.png

3000

2500

2000

1500

1000

500

yield_dsr {ErrorFlag==0}

htemp

Entries 81704

Mean —0.02537

Std Dev 6.308e—05

| ]

0.0256 -0.0255 -0.0254 -0.0253 -0.0252 -0.0251

yield dsr

asym_dsr/ppm:pattern_number {ErrorFlag==0}

[T 1
kS

2000

I R

b
{ W

| W R

| W
4

1
| S
|
| R

1000

—1000
Lcgood LU 5o L del 1 n§
[ S OOH OO L MK W R x 5w 8w
[ i BOOGGBG0G0r 3000 T X X % 35 gx
% 3 ¥ X o
2000 = X WM 3 ' y
_IIII|IIII|IIII|IIII|IIII|I
0 10000 20000 30000 40000 50000

pattern_number

3500

3000

2500

2000

1500

1000

200

asym_dsr/ppm {ErrorFlag==0}

II]_

PairTree

Entries 81704
Mean 0.4571

Std Dev 535.8

-2000 -1000 0 1000 2000

asym_dsr/ppm



asym_usl

asym_dsl

asym_usr

asym_dsr

N —35¢ N N
0.008 0.008 as 0.008 H e
0.006 —{30¢ 0.006F 0.006
B B —30( B u —30(
0.004[ 0.004| 0.004| 0
- —25¢ - n
n n —25¢( n -
0.002F 0.002F 0.002F N 23
0 [ 0 [ 200 0 [ 200
n - u n
0.002 -0.0021 15¢ -0.002 :—.. 150
-0.004 - -0.004— -0.004— N
: : 10( 0 10(
0.006 -0.0081 -0.008F
N N =0 N - 50
-0.008 -0.0081- -0.008- ® -
_I | | | | | L 11 | L1 1 | L1 1 | L1 1 | L1 1 | | I | | | I | | 11 B | | L1 1 1 | L1 11 | L1 1 1 | L1 1 1 | L1 1 1 I L1 1 1 | _I 11 | L1 1 | L1 1 I L1 1 | L1 1 I L1 1 | | | I | | | L1 1 I | | | |
~0.0080.0060.0040.002 0 0.0020.0040.0060.008 -0.0015 —-0.001 -0.0005 0 0.0005 0.001 0.0015 ~0.0+0.0080.00€0.0040.002 0 0.0020.0040.0060.008 0.01
asym_usl asym_dsl asym_usr
1.0015 1.0015 . 200 1.0015 L
- —35¢ - - —35(
0.001 0.001 351 0.001
B —30( - - —30(
- N —30( -
3.0005 e 3.0005 3.0005 o
- - N
B B 25( B
|- |- = 20¢
B B 200 B
).0005 - 7.0005 7.0005 15¢
- - 15( -
B B B 100
-0.001 ~0.001 10 ~0.001
B B 50( B 50
).0015 - 20015 _ 2.0015 -
_I | | L1 1 | L 11 | 111 | 1L 11 | L1 1 | 111 | L1 1 | L1 1 | L1 i 1 1 | L1 1 1 | L1 11 | L1 1 1 | L1 1 1 | I T | I L1 1 1 | _I 11 | 111 | 111 I 111 | 111 I 111 | L 11 I L1 1 | L1 1 I L1 1 | |
~0.0080.0060.0040.002 0 0.0020.0040.0060.008 -0.0015 —-0.001 -0.0005 0 0.0005 0.001 0.0015 ~0.0+0.0080.00€0.0040.002 0 0.0020.0040.0060.008 0.01
asym_usl asym_dsl| asym_usr
0.01 0.01 0.01 —33(
: m 'nm 35¢ : 1 :
0.008F 0.008F 0.008F
" m n 301 n —30¢
0.006F "= | s 0.0061 0.006
- n N —125¢
0.004|- 0.004|- _ 0.004|
- —25¢ - 25 -
0.002 5 0.002 5 0.002 5 200
O O O
n n n 15¢
0.002F -0.002F -0.002F
n " m n
0.004 -0.004F -0.004F 10t
-0.006 -0.0061 -0.0061
C - - 50(
0.008 -0.008F -0.008F
n p n " m n
—D..E” 11 | 1 1 1 | 1 11 | 111 | 1 11 | 1 1 1 | 111 | 11 1 | 1 1 1 | 11 —D.ﬂ1 1 1 | I . | 11 11 | 1 1 1 1 | 1 1 1 | I | I 1 1 1 1 | —D.ﬂ 111 | 111 | 111 I 111 | 111 I 111 | 1 11 I 1 11 | 1 1 1 I 11 1 | |
~0.0080.0060.0040.002 0 0.0020.0040.0060.008 ~0.0015 —0.001 -0.0005 0 0.0005 0.001 0.0015 04.010.0080.000.0040.002 0 0.0020.0040.0060.008 0.01
asym_usl asym_dsl asym_usr
- - _lao - —35(
2.0015 O 2.0015 2.0015
- —30¢ - —35¢ - —30¢
0.001 m 0.001 0.001
- {25¢ : oo - —25¢
" o _ [ =
2.0005 2.0005 o8¢ 2.0005
- 20¢ N - 20¢
of . ol m 20( 0l
- 15( - - H 15(
).0005 2.0005 156 900055
- 10¢ - - 10¢
- - 10 -
—0.001 ~0.001 ~0.001
: 50 - 50 : 50
).0015 m 7.0015F 7.0015F m
_I | | 1 1 1 | 1 11 | 111 | 1 11 | 1 1 1 | 111 | 11 1 | 1 1 1 | 11 _ 1 1 | I . | 11 11 | 1 1 1 1 | 1 1 1 | I | I 1 1 1 1 | _I 1 1 | 111 | 111 I 111 | 111 I 111 | 1 11 I 1 11 | 1 1 1 I 11 1 | |

0

run6355 000 asym maindet miatual correlaioniCOLZ phs

0.0081— 0
- —30¢
0.006F
0.004 —(25¢
[ =
0.002
- 20¢
0F-
- 15¢
-0.002
-D.nm:— = 10¢
-0.006[—
N 50
-0.008— r -
_I | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | | I I | I L1 1 1 | L1
~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr
7.0015— —40¢
0.001 1>
- —30¢
7.0005—
- 25¢
ol
N 20¢
2.0005— 150
-0.001 10
- 50
2.0015- -
_I | I T | | L 11 1 | 1111 | L1 1 1 | | I I | | 1 1
~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr
}_7 = —35(
0.01
- N
0.008F —30(
0.006—
- —25(
0.004F
0.002F- 20(
O
- 15¢
-0.002- W
-0.004— 10¢
-0.0061
- 50
-0.008
- O N
—D.ﬂ1 I|IIII|IIII|IIII|IIII|IIII|IIII|II
~0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr
2.0015F 3
- —30(
0.001—
N —25(
2.0005—
- 20¢
0
n 15(
2.0005—
- 10¢
~0.001
- 50(
7.0015F
_I | I | | 1 1 1 1 | 1111 | 11 1 1 | | I 11 1 1 | 1 1

-0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr



asym_usl

asym_dsl

asym_usr

asym_dsr

run63s55 000 asym

asym_usl

12 [ ndf 35.97 / 40

p0 3.067e-07 = 2.844e-07

P 0.9983 = 0.0002

U.0UZ

-0.002

-0.004

-0.006

-0.008

—-0.0080.0060.0040.002 0 0.0020.0040.0060.008

asym_usl

0.4—

0.2—

Fo

o

¥/ ndf 33.43 /40
pO 5.2e—0/7 + 1.6e-0&
p1 —.002618 £ 0.000892
Cor factor —-0.0084

|l -
- Wﬁmﬂwﬁﬁ |

- _t
—0.4
_III|III|IIIIIIIlIII|III|III|III|I_II|II
—0.0080.0060.0040.002 0 0.0020.0040.0060.008
¥% | ndf g1.51 /40
p0 2 978205 + 9.256e—06 }\
p1 0.6261+ 0.0048 ]L{J[-
Cor factor 0.5609 +++Hhﬂjr
ol
B +
-0.004 — } {
_0.006—
—D.DGE:I_Ill_IlllIIIIIIIlIII|III|III|III|III|II

-0.0080.0060.0040.002 0 0.0020.0040.0060.008

asym_usl

0.8

0.6

0.4

0.2

i

-0.2

L|III|III|III|III|III|III|III

-0.4

¥/ ndf 425740
po 7.44e-07 £1.92e08
p1 -0.0003555 £+ 0.0010465
Cor factor —-0.0064

Hﬂﬁ%ﬁ%%%#q

% |

—0.0080.0060.(g40.00

nmaliil

det mutual

0 nnﬁz— ¥/ ndf 31.38/135
- p0 ~1.318e-05 + 1.032e-05
0.004
B p1 —0.05997 + 0.03620
0.003
- Cor factor —-0.0084
0.002 -
0.001F _ Jf
: | H | ] }
- LTI,
-0.001F - }\
-0.002 {
—D,DGB:I—II|IIII|IIIIIIIIIIIIIIlIIIIlIIIIlI
-0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
%2 { ndf 41.49/35 )

pd  —1.927e-08 £5.124e-08

Pl 0.9989 = 0.0002

2.0005

-0.001

J.0015

—0.0015 -0.001-0.0005

0  0.0005 0.001 0.0015

D.D{}y —
i ¥2 | ndf 46.93 /35
R pO 241205+ 1.122e05
0.004—
B p1 —0.068401 + 0.03927
i Cor factor _0.0051
0.0021—

: ﬁ%

_DlﬂﬂdII|IIII|IIIIIIIIIIIIIIlIIIIlIIIIlI

D:— i hiﬂﬂ*ﬁ%%%m {{

|

t

—-0.0015 -0.001-0.0005

asym_dsl

0 0.0005 0.001 0.0015

0.6

0.4

0.2

-0.2— {
-0.4—
T

-0.6

¥2 { ndi 33.95 /35
pa 5.186e-07 + 1.921e-06
p1 ~0.0001392 + 0.0067854
Cor factor —0.0003

A W Mﬁdh {

—-0.0015 -0.001-0.0005

~ corre

asym_usr

¥/ ndf 142.9/ 40 -

p0 —2 408205 + 8.474e-06 } -
p1 0.5302 + 0.0041 4 M

Cor factor 0.5609 ¥ j[ i

-0.002— 1

-0.004 —

-0.01 —-0.005 0 0.005 0.01

asym_usr

¥/ ndi 56.2/40

0.6 p0 3.447e-08 + 1635606

p1 -0.0009654 + 0.0008117
0.4

Cor factor —0.0051

0.2

j ++ﬂwmwﬁﬁ

-0.4

-0.01 —-0.005 0 0.005 0.01

asym_usr

2 ndf 48.95 / 40 -~

p0  -2.333e-07 £ 3.119e-07 -

p1 0.999¢6 = 0.0002

0.002

-0.002

-0.004

-0.006

-0.008

—-0.01 —-0.005 0 0.005 0.01

asym_usr

- ¥Z { ndf 38.25/ 40
0.6
pO 4.315e-07 £ 1.914e-06

0.5

- p1 —0.001462 = 0.000920

0.4 Cor factor —0.0057

0.3

0.2

0.1

| |
sl

-0.1

-0.2

lation-fit.pne @

asym_dsr

E - ¥2 / ndf 37/ 41
0.002
C p0 ~1.151e—05 + 1.031e-05
0.001 :— * p1 —0.0371 + 0.0309
[ - boooo+ Cor factor —0.0064
0 H “ﬁﬁ%ﬂw -
: J[ TTH {[rl ||‘
-0.001F |-
-0.0021
-0.003F
-0.004F
— _—l | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | | I I | I L1 1 1 |_I |
-0.0015 -0.001-0.0005 0O 0.0005 0.001 0.0015
- ¥2 | ndf 52.3 /41
0.4 p0 2 633607 + 1.644e-086
- p1 ~0.001615 + 0.004979
0.2~ Cor factor —-0.0003

¥

Wmmﬁmﬂﬂﬂ i

-0.2-
-0.4(—
-0.6 -
=1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | L 1 1 1 | | | I L 1 1 1 | 1 1|
~0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
: ¥Z | ndf 55.63 / 41
0.0041
- p0 2.381e-05 + 1.123e-05
0.003 :_ p1 —0.05043 = 0.03364
0.002 Cor factor -0.0057
0.001F- J[
S| TT—[i
D__ I }l HHH- t + {Hﬂ {
- { t } -
—0.001F | .
-0.0021
-0.003F
[ | 1 11 1 | 1 11 1 | 1 111 | 1 111 | L 111 I 1 11 1 | 1 1
~0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
2.0015F htel ! Ip
! Entries 40840
0.001—
B 4 Mean  4.193e-07
2.0005
- Meany 4.193e-07
o Std Dev  0.00038
IJ.D{}DE:— Std Devy 0.00038
~0.001F =
I."':I"D{}AIE_Il_IIII|IIII|IIII|IIII|IIII|IIII|II
~0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015



asym_usl

0.008

0.006
0.004

0.002

asym_usl

-0.004

-0.006

=
I|III|III|III|III|III|III|III|III|I

-0.008

—-0.0080.006-0.0040.002 0 0.0020.0040.0060.008
asym_usl

asym_usl

2.0015

0.001—

J.0005—

asym_dsl

—0.001—

10015

—-0.0080.006-0.0040.002 0 0.0020.0040.0060.008
asym_usl

asym_usl

0.01

0.008

0.006

0.004

0.002

0

aSyIn__usr 0002

]

-0.004

-0.006

-0.008

—D..ﬂ1 |III|III|I.II|III|III|III|III|III|II

—D.D{}BD.DDBD.D{MD.D{}E 0 0.0020.0040.0060.008
asym_usl

asym_usl

2.0015—

asym_dsr

—0.001—

J.OM5 -

run6355 000 asym maindet mu

asym_dsl

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

=
II|III|III|III|III|III|III|III|III|I

-0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015

asym_dsl

asym_dsl

2.0015

0.001— 7

J.0005—

J.0005—

—0.001—

J.0015—

-0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015

asym_dsl

asym_dsl

0.01

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

-0.01

-0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015

asym_dsl

asym_dsl

J.0015—

0.001—

2.0005—

J.0005—

—0.001—

J.0015

tual correlation-s

asym_usr

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

—0.040.0080.00€0.0040.002 0 0.0020.0040.00e0.008 0.01
asym_usr

asym_usr

2.0015—

0.001—

J.0005—

J.0005—

—0.001—

J.0015

—0.040.0080.00€0.0040.002 0 0.0020.0040.00e0.008 0.01
asym_usr

asym_usr

0.01

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

—D.ﬂ 111 | 1 1 1 | 111 I 1 1 1 | 111 I 1 1 1 | 1 11 I 1 11 | 1 1 1 I 1 1 1 | 1
—é.ﬂ#ﬂ.ﬂﬂm.ﬂﬂm.ﬂﬂdﬂﬂﬂ? 0 0.0020.0040.00e0.008 0.01
asym_usr

asym_usr

J2.0015—

0.001—

2.0005—

J.0005—

—0.001—

J.0015

—0.040.0080.00€0.0040.002 0 0.0020.0040.000.008 0.01

cat.png

asym_dsr

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

=
|III|III|III|III|III|III|III|III|I

-0.008}

-0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr

asym_dsr

2.0015

0.001—

J.0005—

J.0005—

—0.001—

J.0015—

-0.0015 -0.001-0.0005 0  0.0005 0.001 0.0015
asym_dsr

asym_dsr

0.01

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

—D.ﬂ1 IIII|IIII|IIII|IIII|IIII|IIII|II

-0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr

asym_dsr

J.0015—

0.001—

2.0005—

J.0005—

—0.001—

J.0015

-0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr



